ASH-V/Geography/DSE-2/20

B.A./B.Sc. 5th Semester (Honours) Examination 2019 (CBCS)
Subject : Geography
Paper : DSE-2

(Social Geography)

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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Section-A
(Short Answer Type)

L. Answer any ten questions: 2x10=20

T I T AN TEd wes

(a) Define society.
AR AR 7S |

(b) What is the difference between Primary and Secondary groups?
AT 8 (Ml BT Ty ALy e

(c) What do you mean by social morphology?
HfErs weARTH =0 B @I

(d) What is assimilation?
WEFR 7

(e) Differentiate social space from material space.
QTS (R (AT ANET oo A fRaeid 3t

(f) What is social process?
Al aifEm Fe

(g) What are the structural components of society?
TS e SommalF F Mo

(h) What is social marginalisation?

safes Aifgead §e

(i) Define race
wifez wea ws|
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ASH-V/Geography/DSE-2/20 (2)

() Define social ecology
wwfes agfwm swen we )

(K} What is social mobility?

rafee Swaadrs &
(0 Define social well-being.
e e wm ue |
tm) Define social Pathology,
RE ARl S p— e |
{n) What is S1A2
SIA F¢

(0) Write the fujy form of ASHA Q
ASHA-R = 20 (aa,

Section-B
(Short Analytical Type)
2. Answer any four Questions:

5X4=2{)
T 5 erwa TEt wes

{a) Write the characteristics of social groups. What is special interest group.

4+1=5

mm&mm&mahﬁmuﬁi e | R il R

th; Briefly explain differen types of social structure What is social change? 4+1=5
ﬁi@awmmmnmmqmmwmaa

{c) Wnite a short note On caste system. What is social Justice? 4+1=5

mwﬁmw@wMMMnmﬁmiv

the socia) well-being? What
measurements of quality of life indicators?

Wmﬁﬂmmﬁmﬁv&@?%ﬁm

(e} What are the different causes of crime? W

are the qualitative
4+1=5

TS WA IR TN )

hat is isolation?

4+1=5

A ffen maom & &, fafveer

(€} What are the importance of social policies? What is social policy? 4+1=5
Ml S ST A2 e Ry H
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(3) ASH-V/Geography/DSE-2/20
Section-
(Broad Answer Type)
X Answer any nvo questions;
X (W T H0w By wia o

(@) Discuss in brief the sco
Status?

10x2=20

Pe and content of socjg] geography. What do you mean by social

8+2=10
WWWWWQWWWlmWWW@%W?

age people in India? What are the main issues of gender



Time: 3 Hours

Fall Marks: g

The figures in the right hand margin indicate full maris.
Candidates are required to give their answers in their own words
as far as pracricable.
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Section- A
Reoe-=

(Short Answer Type)

L. Answer any iem questions:
T (N G wrwe Ter e

(a) What do you mean by demography?
TENRES = & ar

(b) Define stationary population.
Refa wvra s me

<) What is population projecton?
wonY wErsy &

(d) What do vou mean by ageing population?
WE TN e & s

{e} What do vou mean by TFR?
TFR @ & =

() What do you mean by morbadity?
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() Define zero population growth,
way RN qléa @ wia |
n) What is forced migration?

qrgongs sifgtes fe

W Define transhumance.

{

JrefERIT-0Y W WS |

(j) What do you mean by migration chain?
wfagerad fMEE WS N @I
: (k) What do you mean by GDI?
ﬁ GDI TS A @RI ?
(1) What is population policy?
G A e

(m) How does over population affects our health?

e TP TSN AFTR TP TAT 2SR (7
(n) What is unemployment?

@FITE 2
(0) What is man-land ratio?

TE-ER SPEe A2
Section-B

Aeiet-4

(Short Analytical Type)
5%x4=20

2. Answer any four questions:
R @A 517 oA Ted Mes
tio of a developed country differ from developing country? What
3+2=

(a) How does dependency ra
is crude birth rate?
?@M%CWWWWWWWMﬂ@ﬂ?WW
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(c) Discuss m boef d:emd‘mhmn;ﬁﬂgﬁm‘ i;nlnnﬁa_“},gi,_;m-. ot

3 Answer @y Mweo questions of the fallowing- 12=29
immﬁm'@wéq- T wa: h



(7) ASH-V/Geography/DSE—2(OR)/20
(c) Divide the world into population resource region according to Zelinsky and discuss the

population resource regions. Mention the States of India having maximum and minimum

female-male ratio. 9+1=10

SO ST JfRACE FTRYTHT Sewat wiot gy e R S
SIS A | SIS AT 9 T T1R-opzrg SRS AR M |

(d) Compare the population policies of Sweden and China. What do you mean by population
explosion? 8+2=10
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